[ Efficiency vs vertpos |

Ratio

0.5

i

1072 1

10 0
TP vertr (cr%)

2

_Dg—.— M_CRFFIT_T000evt
DQM_CKFREFit_1000evt

M
M_MKFitREFT_1000evt
M

Efficiend

TESTOLHIT_1000evt

~ 0.5
$0.45
0

> 0.4
>

<
£0.35
0.3

0.25
0.2

0.15

..................................

effic

.............

....................

.............

....................

..............................

.............

.............

.............

.............

0.1
0.05

R i

i

.............

Ratio

.............

0.5

10 20 30
TP vert z (cm)

-10

[ Efficiency vs. sim PV z |

~n 0.2 : : :
CRURET: IS SO SIS SO SUTHS S
L=JORT: IS RS SRS SO SO SO
TRV OSSR USRS U SO s o
5 N N N
L e e S
S of
0.08f -+ + -------- R R S
0.06f -1 ++ ----------------
0.04F +1+++'+++++& """"""""
R MR A
g ¥ gTTerTgTTTm |
Sl nEmd B
£

10 15 20
Sim. PV z (cm)



	Contents
	Page 1


